1.  HAF A 39 = guawa §2
(A) I3 W |5EA w1 iR
(B) |/ w1 %1 fism
(C) == &1 w1 fma
(D) (B) 3 (C) 2

wafela F73 ®i ot &

(A) ST

(B) Hufraa=ral

(C) SwraeTal

(A) &

(B) fate
(C) gz
(D) il feat

J - 2304 ] Series-A

SECTION -1
Psychology

(3]

1.

What do you mean by cognition?
(A) Actof Knowing or perceiving
(B) Actof doing something

(C) Actof working

(D) Both (B) & (C)

The overprotected child will tend to

The Drive Reduction Theory of
Motivation is given by-

(A) Hull

(B) Binnet »

(C) Thorndike ,

(D) JohnDewey



would like to participage i

* mmﬂﬂﬂmhmtﬂm 4. Rohan

ﬁ?‘#‘!‘ﬂ ‘ﬁﬂmmt,{ e Frafy a game but would ai“““““lﬂnvmd
injury. What type of conflie,

T TR W W e feafr -
ey condition heis experiencing in th
(A) 39T - 39rTs e above situation?
(B) wftew - ufter wwd (A) Approach- App:‘mach conflicy
(C) 3urTH - gfter wud (B) hvnidance—hv-a?darme c.;mn%t
(C) Approach- Avoidance conflict
e (P) Personal Avoidance conflict
5. 'rewefaga............ WANAME| | 5. “Gestalt theory” emphasizes -
i (A) Environmental stimuli
S (B) A flow of consciousness
i5) S (C) Our tendency to see pattern
5 s A (D) The atoms of thought

6. &% TF foEH v 57T % WM | 6. Inan experiment, the group whi

I ST T A SR ,....... e ¥ receives no treatment is called-
(A) WA FHE (A) experimental group

(B) i wE T (B) no group

(C) = e (¢) control group

(D) g # | FE T (D) None of the above

'J - 2304 ] Series-A (4]



7. T ggfa % Hfys gifaam € e
T fm &7
(A) saemsa fafh
(B) faafywe fafy
(C) wawm fafy
(D) wrafirr fafu

8. ‘“aw=d = faww far @y g& 40 #1
i g 1" 3% wgw fawre @ w9

fogm 4 safim 87

(A) fawrarss fm w1 fagfa
(B) =afwma fi=ran &1 fagra
(C) fia gfe = fagm

(D) e =1 fagra

9. fpferfiaa & | # @ fafed faarst
& e faee @ fagi @ wra Té
fea waFm &7
(A) ol ®I drad F T
(B) whfs foraror &t sawqFal

(C) = farasl #t wiHia

(D) s ST

304 | Series-A [5]

Which method has made
educational psychology a science 4
(A) Observation method

(B) Clinical method

(C) Survey method

(D) Experimental method

"The development of a child begins
from the head then towards the feet.”
The said statement is related to
which principle of development?

(AY Principle of developmental

direction
(B) Principle of individual

differences
(C) Principle of continuous growth
(D) Principle of interrelations

Which of the following implications

can't be derived from Piaget's theory

of cognitive development?

(A) Children's desire to learn

(B) Need of verbal teaching

(C) Acceptance of individual
differences

(D) Discovery learning



10. Freefefem 6§ & 99 m afagfon o

11.

12.

[J-2304] Series-A

w1 e fagia i 87
(A) #FTe wfefez
(B) wamfa

(C) = o 23 gism

(D) Ffers gfafey

frars & s frwm 3 fugia 2
ATER, 7-12 7 F) Hq Ay |
s @ A0 HA I B
(A) 3 A s

(B) i wfgmens s

(C) A e

(D) 4 -wHfFamas sway

AT F1 F ™ fagi Fam e
A 773 % 7 T i #1392

ar % fog afFa o waw 2a 17
(A) =7 wfafem fagm

(B) ®Zrafm fagra

(C) ez it

(D) TR fagm

10. Whic

11.

12,

h of the following is ngy .

principle

Progj'a:rm'tf
(A) Immediate feedback

(B) Self pacing
(C) Self or student testing
(D) Passive responding

According to Piaget's theory of
cognitive development, the period
from 7-12 years of age is known as.
(A) Formal operational stage

(B) Concrete operational stage \
(C) Sensorimotor Stage

(D) Pre - operational stage -

Which theory of learning emphasizes
on making the student active for the
discovery of knowledge in place of
becoming a passive listener only?
(A) Stimulus Response Theory
(B) Conditioning Theory

(C) Gestalt Theory

(D) Constructivist Theory



13. weerEr @ St fawm & -l 1 af
WA wyafiay w1

1. A wH sSae s e
sifufa=mg

T SR ST sspEE

3. SR - St ! sifufaran
4. Ui/ \ET w e

Fr=fafas 4 |/ o8 w9 @ faareg =
e HT -

(A) 1,2,3, 4

(B) 2,4,3,1

(C) 3,4,2,1

(D) 4,3,2,1

A =t et uw afedet =i
w1 fadrgmait =1 veam #ifog

1. wfss 9 | =ga wfisg sin
Hagsiter
THYN 9§ =g @

arfess = =1 sen =fema s
W T &A1

4. e i 3 vk # s
5. WETHE S § g
(A) W14 2 3R 3

(B) W13 1,335

(C) W 1,4 3R s

(D) |19 1, 3,4 3R 5

2.

14.

13. Arrange the Kohlberg's stages of
moral develupment in correct
sequence-

1. Social order maintaining
orientation

2. Punishment and obedience
orientation

3. "Good boy-good girl" orientation

4. Instrumental relativity

Choose option of correct sequence
from the following -

(A),1,2,3,4

(BY 2,4,3,1

(€) 3,4,2,1

(D) 4,3,2,1

14. ldentify the characteristics of an
extrovert personality from the list
given below,

1. Socially very active and.
sensitive
2. Always found busy in,
thinking
3. Emphasis on individual work
rather than group work
4. Flexible outlook and friendly in .-
nature
5.  Free from emotional problems ,-

(A) 2and 3 only **
(B) 1,3and 5 only «

&Y 1,4and 5 only
(D) 1,3,4 and 5 only

15. mﬁgg;ﬂw gl *W" 15. What is the basis of the grouping
N AL of test-items in Binet's scale?
o Hic (A) Difficulty level
c m‘il'ﬁm! (B) Aptitude
T) (C) Agelevel
(D) Interest
J-2304] Series-A (71



16. T H fowr & weoi @ fgin @
Eﬁmﬁ!ﬁ?mﬁr-wmw
¥R W P w5 faiemsi @ &
T e ¥ 2
(A) Vvmare
(B) WRw® wregra
(C) =reamEen
(D) Tvitraean

17. ¥ S %1 e 16 §2
(A) wiaumo =
(B) &9 T
(C) dremn
(D) w1

18. frmrarers fonww fafy & forgor ........
L

(A) €A |/ &7 w1 3R

(B) 1 & &9 HT 3N

(C) wmr= | fafere #1 3k

(D) fafere & amr= &1 R

-------------

19. &% IETF 9 & iereed I FWa €

] - 2304 ] Series-A

16.

17.

18.

g to Eri.kﬁﬂn‘ﬁ thEDrY of

stages afdewzlnpwtmwvhim tage
the “Identity Vs Role confusion"
characteristics

Accordin

of

(D) Adolescence

Which one is not a factor of

memory?

(A) Retention
(B) Recall

(C) Thinking
(D) Recognition

Teaching through deductive
method is teaching -

(A) From easy to difficult

(B) From macro to micro

(C) From general to specific
jB) From specific to general

19. The stimulus that automatically

produces a reflex is known as -
(A) Unconditioned stimulus
(B) Conditioned stimulus

(C) Neutral stimulus

(D) Automated stimulus



20. Ty finen ifq 2020 % swfa a4 18 | 20. Under the National Education Policy

o # wredl & forg Freiferfes § § . 2020, which of the following new
| A iR wenwy gates fe educational and curriculum
T E? restructuring has been done for the
(A) 3+3+4+5 children of 3 to 18 years?

(B) 3+5+3+4 (A) 3+3+4+5

(B) 3+5+3+4
(C) 5+3+443+
5+3+3+4 ,

(C) 5+3+4+3
(D) 5+3+3+4

= % S forr fergia & HIAW | 21, According to Kohlberg's theory of
T fRe &) sgemn &2 Moral Development, at what level

(A) wEfs Maw faga s does the child adopt rules?
(B) . - (A) Universal ethical principle
W Eo314

orientation
(C) q& - sruft= = (B) Post-conventional level
(D) Rfis = (C) Pre-conventional level

(D) Conventional level

22. fr=fafers § | a=af & & | 22. Which of the following is an

3 &fimes effective strate to reduce
wfgarfear yifaer sETa gy
B FY FA B o0 UE wE o children's gender stereotyping and

gender-role conformity?

FAH E? (A) Discussion about gender bias
(A) &fir 9o & a) F == (B) Emphasizing gender-specific
(B) femfafere siftrerall Wt Wi 2 i

_ & (C) Gender-segregated play
(€) Ry o B
(D) fermgas a1 #i sqaea (D) Gender-segregated seatin;

arrangement

[J-2304] Series-A [9]



. m A, A1 o
A) &y S ¥

(B) fawersiry

(C) Ty

24.

ma&rﬁ%mm

(A) vfERr v v
(B) wfmr afr wHifeqr
(C) @@ iR wifea
(D) wifga ik g2y

26. feva s i A ¥ e 9
AEH hpexams.in. ¥
(A) ufersrn fafy
(B) sfuehfia _vA
(C) wftfes fafy

(D) wwe gayA fafy

[J-2304] Series-A

23, When @ test Measureg,
* | "
individual's ability c“"“iﬁlbn“
accurately, then that testis kngy,,, n:.
(A) Valid

(B) Reliable

(C) Objective

{z) None of the above

24. A teacher can encOUTAEE Creatyy,

learners in her classroom by -

(A) Emphasizingconvergent thinking

(B) Discouraging divergent thinkin,

(C) “Encouraging multip|e
perspectives and appreciating
original ideas -

(D) Discouraging the students
from taking risks ang
undertaking challenges

. Which of the fnllnwing are mles
of mﬂnd.ary Eﬂdﬂh-ﬂ'ng BEEI'lE]F?
(A) Family and neighbourhood
(B) Family and media
(€) School and media
(D) Media and neighbourhood

26. The most important contribution o

Skinner's operant conditioning in th,
field of tEﬁching]Earnh\g process is
(A) Project method

(B) Programmed instruction
(€) Heuristic method .

(D) Problem solving method

[10]



27. W B & SIER, FRE TH
- wEm §, e foen
. 9w ¥
{ﬁ} H‘rnﬂ‘!iﬁ‘ urmﬁ:m
(B) s, Ewifaes
(C) =wife, zwifes
(D) “waferor, e

28. mﬁm@mﬁ%m
TAHA F1 ATEqSH 70 541 81 =iy ?
(A) HaRen zamm

(B) Sfaw wiere

(€) 'Fi@miﬁamm

(D) =mEmfas T

Sftrm =1 wadA w32
(A) Fg-wagt giesm
(B) =maEraER! gfesr
(C) Tawew gfesm

(D) T gfesm

30. ffefn % & 2 W ‘I =% &
@ wEAR? _
(A) SEa- HAEYIHT - WETE
(B) SEYIFHA- ERA - qcHEA
(C) e - WHE - ATl
(D) WcdreA-HavaFa - gRa

27. According to John Dewey, school
isa.... . institution, and
educationisa...........
(A) Social, Social
(B) Social, Philosophical

(C) Philosophical, Philosophical

(D) Environmental, Psychological

ErEEE R Prmﬁs'

28. The essential element of the
syllabus for out of school children
should be -
(A) Literacy competencies
(B) Life-skills
(C) Numerical competencies
(D) Vocational competencies

29. Which of the following approach
supports co-operative learning?
(A) Multi - sensory Approach
lfﬂ} Behaviouristic Approach
(C) System Approach

(D) Constructive Approach

30. Which of the following is the corre
sequence of 'Motivational Cycle?
(A) Drive - Need - Incentive
(B) Need - Drive - Incentive
(C) Drive - Incentive - Need
(D) Incentive - Need - Drive

[J-2304] Series-A

[11]



SECTION - 11

. Chemistry
1. meﬁﬂt- 31. The molecular formuj, "
(A) CGH“ E},duhﬂune is -
®) CH, (A) C
(C) CH (B) anﬂ
. (©) CiH,
D &
&) oo (D) CHypo
32. Wy WETaters
- T - 32 The functional group in Ester js _
H
(A) hc': " _C...-H
~o N

33. HHSIEE S0t ¥ B AR dftrel &

ZEH H fHan A &2
(A) 12
(B) 14

(©) 10
(D) 39Ea 7 A g e

.2304 ] Series-A

33. The molecular weight difference

between two consecutive
homologous members is -

(A) 12

(B) 14

(C) 10

(D) None of the above

- [12] ¥
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34. ﬁﬂﬂﬂfﬁﬂﬁﬂzﬂﬂ'ﬂﬂmqﬁ

# fou vzifae & w9 & wdmre i w1
wwa 7

(A) Al(OH),
(B) NaOH

(€) Mg (OH),
(D) NaHCO,

35. ¥4 A4 ) 7 gug B oy ane @
e & 3§ T % ea s et & Formen
=
(A) CuS
(B) CuCO,

(C) CuCO,. Cu(OH),

(D) Cu,0

36. HIHBNH H WHEd: @ G § -

(A) i = d |
(B) Troa

(C) toTa &

(D) 9t &

34. Which one of the following is not

35.

36.

[13]

used as antacid for Indigestion in
humans against gas ?

(A) Al(OH),

(B) NaOH

(C) Mg (OH),

(D) NaHCO,

When copper is kept in open for
long a green layer is deposited,

which has the formula -
(A) Cus

(B) CuCO,

(C) CuCO,.Cu(OH),
(D) Cu,0O

Phosphorus is generally stored in -
(4) Kerosene Oil

(B) Diesel

(C) Ethanol

(D) Water



37. vl
B W e v W) et | 37

wim?

(A) ™ % e

(B) MR wedz o1 iy
(€) g™

(D) H,O

28, .
B A A TH W yuw w71 D fog gt | 38

fafly watm &2

(A) Iwvm

(B) w2t

(C) fwreetan

(D) 39t # A +r§ 7

39. 10
WE Na,SO, #1 e wr Fn g ? | 39

(A) 1260 g
(B) 620g
(C) 1250 g

(D) 1000 g

[J-2304 ] Series-A

[14]

which of the following will g
Ow

ryndall effec! '

(A) NaCl Solution
(©) Milk

(D) HO

Which method is bestfor separay
h-hg

colours from dye 4

(A) Sublimation

(C) Crystallisation

(D) None of the above

What is the mass of 10 Mole

Na,SO, ?
(A)A1260 g
(B) 620g
(C) 1250 g

(D) 1000 g



40. e wreoft 7 A | T S 9w
wrgfert & Wit A =1 6 | 9w ey

s y?

(A) = sEr A e %

(B) T T AHR a1 & s

(C) 9% SAleiwz sifus anefm B
G |

(D) w1 wifeerss o1 w2 s

41. AfEn Ies A T faemm we § -
(A) Ca,C;,Cl
(B) Ca,5,0,H
(C) Na,H,C, O

(D) Na,C,0O

42 AR CcCHAIRTW = 2
(A) TEmEHIfaE s
(B) fafgw an=

40. Which of the following statement

is not correct about trends when

we move from left to right across

the periodic table a false 7

(A) Atom will easily lose electron.

(B) The size of atom decreases.

(C) The oxide of element becomes
more acidic.

(D) Metallic character of element

decreases.

41. Elements present in Baking Powder
compound are -
(A) Ca,0,C1
(B) Ca,S,0,H
(&) Na,H,C,0O
(D) Na,C,0

42. The acid present in vitamin C i
(A) Glycolic Acid
(B) Citric Acid

(C) <fafesw s
(D) T=rfas st

(C) Acetic Acid

[J-2304] Series-A

| @) Ascorbic Acid
[15]



3 ‘sotopes hag .
43. % v W Wt # v ¥- 43. The element of mal P
(A) T vifiras ) (A) same physic propertieg
(B) =1 vamafiys: ™ (B) different chemical
(C) %=1 vy wniee (©) different atomic numbsr,n
(D) fir= : ctorent number of neutrg
) 2w e (D) differen Ong \

4. TIVT ST 3  W wrg ufiam 47

14, Which metal i8 Presentin the

(A) J=l Galena ore ?

(B) WM (A) Mercury

(C) HE {B} Cgppﬁr

(D) f @ Lead
(D) Tin

45. W& 9= TF U ¥ & 3 W s | 45. Which chemical compound doeg

T I | ot § 2 an ant inject into our body When j;
(A) HCHO bites ?
(B) CH,CHO (A) HCHO
(C) CH,COOH () CH,CHO
(D) HCOOH @ CH,COOH
(D) HCOOH

46, fr=1 1 @ U 9HRfE wnfiew T¢ - | 46. Which of the following is not

(A) HFHTEE thermosetting plastic ?
(B) 2wt (A) Bakelite *
(B) Teflon
(C) Hemre (C) Melaminey
(D) i wiifeseRe W - (DY Urea-Formaldehyde resin

[J-2304] Series-A [161



a7, w8 e T W T TV UM | 47, The chemical which gives fruits its

wtm # tragrant amell is -

(A) T (A) Ester

() = (B) Ether

(C) ferte (€) Methanol

(D) ThRfTE s (D) Acetic Acid
as i W 7ot wt 48 Complete the reaction

Fe+ ZnSO - ......... ' Fe+ ZnSO - ..

(A) FeSO, +Zn (A) FeSO, +Zn

(B) FeO+SO,+Zn (B) FeO+SO,+ Zn

(C) Fe,O,+SO,+2Zn () Fe,0,+50,+Zn

(D) = sfufrm = ot (D) No reaction takes place
49 N1 E W R R Wewr A G0 W | 49 Which element melts at little above

(303 K) 91 751 stren A B & 7 room temperature (at 303 K) ?

(A) Ca (A) Ca

(B) Li (B) Ui

(€) K (€) K

(D) Ga i (D) Ga

50. T W ST S A SN CTAE T | 50. The property of self linking of

% ¥ Wy W k7 carbon atom is called -
(A) H@eA (A) Catenation

(B) wgeiraw (B) Polymerisation
(C) ww (C) Cracking

(D) =Ry | (D) Neutralisation

[J-2304 ] Serles-A [17)



(B) 3,3 - sHeiteei =gz - 1 _
(C) 2,23@%33%

54. T oo # 320 am 5@ F 40 g
IR T ek &1 T F zem
wicTd |igar @41 gt ?
(A) 11.1%

(B) 10.5%

(C) 20.2%

(D) 40%
2304 ] Series-A

51.

52.

[18]

What s the atomicity of thphnm‘
!

(A) 4
() 3
(©) 2
(D) 1

The valency of Fluorine is-

(A) 7
(B) 3
© 1
(D) 2

Name of following compound i .
(CHy), “C- tH - i‘::1'[2

(A) Hex- ]-ene”

(B) 3 3 - Dimethyl but -1 - ene
(C) 2,2 Dimethyl 3 butene

(D) None of the above

A solution has 520g water and 40g
NaCl dissolved in it, then the magg

percent concentration of NaCl is .

-

(A) 11.1%
(B) 10.5%
(C) 20.2%
(D) 40%



5. mgo:ahwﬁﬂﬁammgﬂm

a1 31 A ¥ 7

5

56. 10 gram HIOﬁﬁHﬁlﬁﬂ'hﬁh?

6.023x10%3
(A) 5

6.023x10%°
(B) s

6.023x10%2

© —

(D) 3wEa # | g &

57. ¥ @ fem | faeray Iufem 22
(A) CH,CN

(B) CH,COOH

(C) CH,CH,OH

(D) CH,CHO

[J-2304] Series-A

[19]

56.

55. When SO, is dissolved in water, the

acid that is formed is -
(A) Sulphuric Acid

(B) Pyrosulphuric Acid
(C) Sulphurous Acid

(D) Caro's Acid

Number of electrons present in
10 gram of H,O are -

6.023x 10>
6

6.023x10%
18

(&)

(B)

6.023 x10%2
(€) g

(D) None of the above

57. Which one of the following ha

triple bond present in its structure
Ay CHCN

(B) CH,COOH

() CH,CH,OH

(D) CH,CHO



58. wi
ey s Mt gl
iy |
CHCHL O ———iﬁ'ﬁhﬁ
IR HLS0),
(A) CH.CH SOH+ O
2

..........

(B) CH,=CH,+H o

|
(€) CH,CH,-0- CH, - CH
(D) awdvr 3§ A wf e n

9. Wi sromhe (Predte) 3 ormh
feemn w w k2

(A) CH,(CH,), - CH, -

(B) -CH,

(C) SOjNa'

(D) -COO Na*

60. et i vl & s o e 42
(A) Hwg
(B) He' 3w
(C) Li* &
(D) 3wEa wt W

[J-2304) Series-A

eaction by selge
u, Complet? the ¥ Y selecyy,

I‘Ighi “I}IIHH
440K

{-+I11CI h{J” (onc. 1;[r({]; T,

(A) cH Ll l_:ﬁO\II +H0

= CH,* H,0
0 - CH, = CH,

(B) Cl
(€) cHCH, -

(p) None of the above

59. The hydrophilic end of Synthey,
detergent i8 -
(A) CH4(CHy)y0" CH,-
(B) -CH,
(C) SO; Na*
(D) -COO™Na'

60. Bohr's Theory is applicable to-
(A) Hatom |
(B) He'ion
(C) Li**ion
(D) All of the above

[20)



SECTION - 111
Binlngy

62, Preferfem 3 & frad vftm weli o

(B) TR -
i i
- | o
e I.I. _.'\.'I‘.'
(C} T“FE“ = W ]
- F 9 N =
e o A
. wr . .
J Wil A -?..'I- rlllﬁ"' -".E' 1Hl
( I , Hmr T Wl P
s ) -—
| \q‘f‘l Y & el
Wyl 1 [
" ;'\ 1:--.- =
'|"'.I i3 ]
] |

63. arsreasA i nfa Frefafes § 3 fag

61. Non-essential parts of a flower are-
(A) Androecium and gynoecium
(B) Sepals and carpels

(2] Sepals and petals

(D) Sepals and gynoecium

62. Geocarpic fruits are formed in-

"
D,

! 2
(A) Oniong k‘:;-'luf' | |
. ) "':'1" 1-'::||
= _.er . \
e

.;: :I"_; . :‘-m‘rﬁ‘irq‘ 1

1;;-, L
—

1h
W i
5 °

" (C) Groundnut

e e
=

(D) Watermelon

movement of-
(A) Parenchyma cells
(B) Guard cells
(C) Epithelial cells
(D) None of the above

[J-2304)]Series-A

[21]

63. Transpiration is regulated by th



64. Trafafem § @ - | | 64, AN exafﬂPIE of underground edib),

owing is-

Wﬁmmﬂmﬁ? stem among ol
(A) =g (A) Potat?

(B) it (B) Groundnut
(C) waw= (C) Sweet POt
(D) R (D) Carrot

65. ﬁmﬁﬁmﬁmﬁmmm 65 Trmwﬂufhﬂdmﬂmmmm

B e &2 plants occurs through-
(A) g= (A) Flowers

(B) Wow T (B) Companion cells
(C) =nfef=t (C) Tracheids

(D) =ert Afer am= (D) Sieve Elements

66. Wi F sTavTF WS BT S Brf | 66, The idea that plants need essentia)

&, ae farem fres weanfae fagr 2 minerals was first proposed by-
(A) 3 (A) Aristotle

(B) waig fargwm (B) Bernard Simpson

(C) 3 T ®rse (C) Arnon and Stout

(D) & ¥R (D) Von Haier

'J -2304 ] Series-A [22]



Wwﬁﬂmhﬁ%m

5o, Freafafaa d & Rfes =% +1 ifm
IR §-
(A) RUBP
(B) PGAL
(C) PGA

(D) F

67, Stem dev EIDPE from-

(A) Radicle
(B) Cotyledon
(C) Mesocarp

(D)} Plumule

68. Innermost layer of cells which
shows casparian strips in its cells is
called as-

(A) Epidermis

(B) Endodermis

(C) Pericycle

(D) Exodermis

69. The end product of Calvin Cycl
is-
(A) RUBP
(B) PGAL

(C) PGA

- 2304 ] Series-A

(D) Glucose
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70. Pt 32w Y o siton fenfiic : | 70 The Law of Limiting Factors v,

fem a1 ?

given by-
(A) wfess

{h} C;l\rin
(B) =Heriy

(B) Blackman
(C) vWr=a

(C) Priestley

(D) 390&R 7 ¥ H§ =& (D) None of the above

71. WA WER 1 ¥R T Pt Y ey 71. Kranz type anatomy is a featur

aredt F g et § 2 i
(A) C3- 9=Y (A) C3 - Plants

(B) CAM - Wm™ (B) CAM -Plants

(C) C4- TRy (C)- C4 - Plants

(D) S it § (D) All of the above

72. e (geft) TRd F sk w 72. In Angiosperms, the pollen i

g e svaea # ga ¥ ¥ aevienally relanadit
(A) 1- Wi S (A) 1- celled stage

(B) 2- HNita st (B) 2-celled stage

(C) 3- P s7arean (©) 3-celled stage

(D) T g fmfor v - (D) Male gamete formationst

J -2304 ] Series-A [24]



3. T S
7 e (i) BT i 4 73. Which of e following fruit is
(A) E UG Prﬂdu:tdbypnrthzmcﬂfl’}'?
(D) HIEE (C) Banana
(Q) Jackfruit
@R afcaes @5 § sifay LIPS
: il g a#m g0 74. The final electron acceptor in
(A) AW electron transport chain is-
(C) NADH :::) FADH
(D) O, ) NADH
(©) o,
. F ghm B
73. Eﬂ LA A R | 75, The male reproductive parts of a
. flower, the stamens are collectively
(A) T known as-
B
(C)) 39 i (AY Androecium
([} ) (B) Filament -
(D) St (C) Anther
(D) Gynoecium
76. mhmtmﬁwm 76. The basic unit of classification and
epaes i REEFESANARERRS RN i tlxonumicra:nki&-
(A) wireirg (A) Species
(B) Rt (B) Genus
(C) =9 (C) Class
(D) 3irE (D) Order

[J-2304 ] Series-A [25]



77, ﬁﬂﬂﬁmﬁmmmﬁﬁ@

porous soil among the

% 77. Least
L -
(A) tﬂ'eﬁq'a following ".I
(A) Peatsol
(B) =rye (B) Loam
(C) fawit fidh (C) Clay
(D) s9m= b | q !ﬂ'{ E ) (D) None of the above

78. S e F | fras wray s ¥ | 78, Lichens are good bioindicatorg
THmaw €2

(A) wafETn wEuy i:)i Environmental Pollution
(B) 1 wgww (B) Soil Pollution
(C) & 7 g wguy (C) Water and Air Pollution
(D) 390ma | | =ré ¢ (D) None of the above
79. Eﬁ-ﬁfﬂlﬁﬁqﬂﬂﬁqﬁmt? 79. Blue- green algae belongs to-
(A) wifew (A) Protista
(B) Wrhfdied (B).- Prokaryotes
(C) v (C) Fungi
(D) wrArEEe (D) Bryophytes

80. frefafEd @ A F-91 %97 F5% & | 80. Which of the following statements

e €2 isga_geahoutfungi?

(A) A m .4 (A) They are eukaryotic,

(B) &t ¥ (B) They are heterotrophic.

(C) 7% T oy &9 @ deeifae (CY They possess a purely
Fifere fufa T cellulosic cell wall,

(D) 39 | | HI¥ 7 | (D) None of the above.

J-2304 ] Series-A [26]



:1
’ il favreae ury 1. Plang
{ﬁ] '3‘-1'ﬁ . - %l be‘:a Brow 'hrﬂughnut their life
{B) Hﬂﬁﬁi Eﬁﬁ'q'q il e tl use of-
™) Presence of meristem

At SIEETH A HEy

©) R
D) =8 ABTE 9 wry wal {3,1“ Presence of vascular cambium
{ ® (©) Presence of xylem and phloem

(D) Presence of tracheids

presferfan 3 8 F W Tt g

g2.
’ B2,
s ikl Which among the following is a
(A) Baseous plant hormone ?
(B) frratfe= (A) Ethylene
(C) 1AA (B) Gibberellin
(D) ABA (C) 1AA
(D) ABA
HATH
%7 - Protonema stage is found in-
(A) &t YarE (A) Green Algae
(B) feraad (B) Liverworts
(€) (C) Ferns
Hq
(D) (D) Mosses

g, Prefafea & | I ey
™ | 84, Example of Marine angiosperm

e &~
(A) arsfean amonggst the following is-
(B) i (A) Hydrilla
() e (B) Zostera
D) e (C) Vallisneria
| (D) Ceratophyllus

J-2304] Series-A (379



A 8-

qre v B
(A) T=RM™
(B) =EmEd
(C) aFa
(D) g7

7. it 7 e FE fefi 5

FH AW E?
(A) faaifid - B
(B) faerfd - K
(C) faafi - B,
(D) o - A

2304 ] Serles-A

5. Sourceof MAX

86.

87.

[28]

{mum energy ina cel

ig -
(A) Protein
(B) Vitamins

(C) Fats
(D) Carbohydrates

Among the following, the organ
wherﬂﬂjsﬁu‘mnf proteins occurs js.
(A) Pancreas

(B) Rectum

(C) Liver

(D) Small Intestine

Night Blindness and Xerophthalmia
occur due to deficiency of which
vitamin ?

(A) Vitamin B

(B) VitaminK

(C) Vitamin B,

(Dy Vitamin A



(D) 120 mm Hg

0. HrE H SO TR T H eyt
g B ¥ 2
(A) T
(B) FFd
(C) PN

(D) &R T

.................

89. The normal diastolic blood pressure

in a normal healthy adult man is-
(A) 80 mm Hg
(B) 60 mmHg
(C) 90O mmHg
(D) 120 mm Hg

90. hpexams;inproduces urea as excretor
product in human body.

(A) Kidney

(B) Liver

() Urinary bladder

(D) Digestive System

J-2304] Series-A
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91. ﬁmﬁﬂhﬁqmﬂwmm
HEEATE W W g0
(A) Tenefer
(B) ¥enfEA
(C) wrdifaEs
(D) e 3 R Wi

93. ud & fau & faers gifawdsdt § o=

# | = v e 2

[J-2304 ] Series-A
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is the muscle's contractile

protein.
(A) Globulin

(B) FElastin

(&) Myosin

(D) None of the above

................. hormone plays a pivotal
role in social bonding, sexual
reproduction and child birth.

{(A) Oxytocin

(B) Melatonin

(C) Adrenaline

(D) None of the above

Antivenom against snake poison
contains-

(A) antigens

(B) antigen-antibody complex
(C) antibodies

(D) enzymes



ﬁﬂﬂﬂmmmaﬁ

e 9T &R A TEH Tl
=1 wferera fre=r # A faraen S 2

(A) 5%
(B) 10%
(C) 15%

(D) 20%

94,
Cocaine is obtained from-

(4) Erythroxylum coca
(B) Papaver somniferum
(©) Atropabeliadonna

(D) Dature stramonium

95. Winter sleep is also called as-
(A) Hibernation

(B) Suspension

(C) Migration

(D) Aestivation

96. The amount of energy transferred

from one trophic level to another
is-

(A) 5%

B) 10%

C) 15%
(D) 20%

J -2304 ] Series-A
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g7, v & faeed S reiferer e smm | 97. Exchange of genetic material takes
wer v ¥ 7

place in -

(A) THE™ T
(B) TR wore= i

(A) Budding

(B) h“xu.l repraducﬂon
(C) & wora o

(D) suiEa vt o

(C) Sexual reproduction

(D) All of the above

98. =1 & | F9-91 STE9+ ain &7 Q8. oo 5 @ Vestigial organ,

(A) Intestinal villi

(B) Papillae
() =rerd qifess (Cy Vermiform appendix
(D) ¥ & ¢ e (D) None of the above

90 Frerd@awA WA TR A axF | 99. Gobar gas plant uses ...

qrE S 8 ? bacteria.

(A) FadFrafe sfarg (A) Methanogenic
(B) WA SfraTy (B) Cyanogenic
(C) St Sfrary (C) Oncogenic
(D) wrErSifTE Sfrary (D) Pyogenic

-2304 ] Series-A [32]



o A e SUEH W i g 100. Which of e following is not @
() T=ET Viviparous 7
) T (A) Echidna
©) T (B) Humans
D) faeeht \ (€) Mice
(D) Caws

101 The gap between two neurons is

A iciisiivsesneyes FEa € chlled.
{A) m

(A)-Synapse
(B) fe=afaw

(B) Synthesis
© (C) Dendron
(D) Twer (D) Axon

102, The site of fertilization in humae

el G491 gt 82 o

(A) T (A) Uterus
(B) sreaedt e (BY~ Oviduct
SRl (C) Ovary
S (©) Vagina

[J-2304] Series-A [33)



103, T W 1 frgin foney 3 fip A lm,ThetheoryufnﬂhHﬂl“kcﬁ““W“

fem m? givenby-
(A) o (A) Lamarck
(B) i (B) Darwin
(C) e (C) Mendel
(D) WA (D) Haldane

104, 74 @ v & Frer el T | 104, The UV radiation from Sunis likely

frot fim T 1 T 2 to causehpexams.inis humans.
(A) wmmfﬂn (A} Skin cancer

(B) WS 5 7 (B) Lungcancer

(C) T T FE (C) Liver cancer

(D) weTeh &1 % (D) Brain cancer

105, farva vatareor e 8 f3 o smn | 105, World  Environment Day is

t celebrated on -
(A) 13 (A) 1*July
(B) 5 e (B) 5" July
(C) 1 (C) 1*June
WS S (DY'5" June

[J+2304] Series-A [34]



(A) Frd @ T e g
(B) =rd 7 9= UF wum §
(©) o T T ww
®i
(D) M@ TH A 9 T fiusy
(4]

g, e T STl S e & ey
2 TE 9% @ SN Had UF AR TG {
afea dran &, Frer 5 A fomet 3w s
3
(A) e, firfire, Semist
(B) fewdrh oy, T H, AN
(C) e, T,
(D) =, ST, FHge

106. A
2y Bishnoi lost her e while

savi
Ving forest having ...-

trees,

B) Kheir
(€) Bamboo
(D) Sheesham

have-

(A) Different function with
different structure.

(B) Same function with same
structure

(C)- Different function but with
same structure.

(D) Same function but with a
different structure.

108. Single circulation i.e. blood flows
through the heart only once during
one cycle of passage through the
body, is exhibited by-

(A) Labeo, Chameleon, Salamander
(B) Hippocampus, Exocoetus,

Anabas.
(C) Hyla, Rana, Draco
(D) Whale, Dolphin, Turtle

2304 ] Series-A
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109, Frerferfar & & wrifon st faad
e W Y-

109, Segmentation in the body is first

observed in which of the following?
(A) Pla q,-he‘:m'mm oS

(A) Sfeiew-aw
(B) weRfesam
aF (B) Aschelminthes
:E; . (S Annelida
(D) Arthropoda
110. fadfia® I & - 110. Secondary producers are-
(A) (A Herbivores
(B) . (B) Producers—
(©) Hiwerd (C) Carnivores.
(D) ¢ T ©) None
111. mmﬁlﬁlmmmm 111. Which cell organ have its own
st v A ¥ genetic material ?
(A) wEEEH (A) Lysosomes
(B) g (By Mitochondria
(D) TEEEE (D) Ribosomes
112, wrE & &1 pH 9H @1+ & @ | 112, pH value of Human blood is close
¥? to -
(A) 104 (A) 104
(B) 84 (B) 8.4
(C) 74 C) 74
(D) 6.4 (D) 6.4

J.23041Series-A
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) Tafuss o faafir
(D) FETEESTH T Wi

115.ﬁ'ﬂﬁﬂmmm3‘ﬁﬁ1ﬂt?
(A) FI=
(B) &
(C) Taer=gt
(D) ISR Wt

116. STAIAHTA TTHIA T HEA At Tefy
AT FNE?
(A) arigs
(B) gy

(C) s
(D) e

113 . .
' HDW milny chl'l,'![l]ﬂﬁﬂmiﬁ' Pnlﬁ Are

there in human somatic cells ?
(A) 46 Pairs

(B) 23 Pairs

(C) 21 Pairs

(D) None of the above

114. What are the constituents of plasma
membrane ?
(A) Lignins
(B) Proteins & Lipids
(C) Lipids & Vitamins
(D) Carbohydrates & Minerals

115. Out of the following which animal
is hermaphrodite ?

(A) Earthworm

(B) Ant

(C) Cockroach

(D) All the above

116. Name the gland which secret
emergency hormone.
(A) Thyroid
(B) Pituitary
(C) Pancreas

[4-2304 ] Series-A

(D) Adrenal

137)



117 S 5 e g SRR wew wed %t | 117 Which gas decreases the bindin,

M B FW weh & ability of oxygen in blood 7
(A) - (A) Nitrogen

(B) w7 wiisitege (B) CarbonMonoxide
(C) =rl srdsitsame (C) Carbon Dioxide

(D) stadisr (D) Oxygen

118. swafvs =AM 18 |99 worf =i i
8 vl & g9 ® R U S b

118, D‘u.rh\g ﬂfﬂﬁﬁi\‘"‘! exeﬂ:iﬂ!, we SE{

Crampsin legs due to accumulation of.
(A) e ErEFaTE (A) Carbon Dioxide
(B) e s (B)Lactic acid
(C) Tewr (C) Alcohol
(D) ¥ (D) Water

119. ¥4 4 &F FEN-9R F1 FTF By 119. Which one of the following cause

%2 Kala-Azar ?

(A) THfE (A) Ascaris

(B) fzterarm (B) Trypanosoma
(C) wfrertifran (O Leishmania
(D) =g (D) Bacteria .-

120. ¥ FT G 91 WGEA 1 WH=g 120. Posture and balance of the body
Afeae & a9 gra o &2

controlled by which part of brair
(A) 5™ (A) Cerebrum
(B) Aftdem (B) Cerebellum
(C) #gen (C) Medulla
(D) 9t (D) Pons

[J -2304 ] Series-A [38]



gt g 5080 W ad g
: ﬂ;jﬁ mm lnrwhen is United Nations day

:.] 25 AT celebrated every year?

{BJ ppp— (A) 25 October

(

(BY 24 O¢ r

@ 2 (© mcxt::r

D 14 ST

®) {ep} 14 November
122 fapfersamQ) e fea e ™ feefy 122 Kilimanjarg Volcano is located in

? 2 W %

. which Continent? ||

(B) TSI ’ 3 _Mﬁca

(C) mﬂ ﬂljﬂ; : ;;.:;: (C} North Amernica

(D) TRt (D) South America
23, faret & 979 3 B H 79 F9@ 97 | 123, Which gas is used in Electric Bulb?

>
it (A) Nitrogen
(A) TS 3
(B) Hydrogen

(B) TTEGISA

(C) e (€) Oxygen

(D) #fa ¥ (D) InertGas

-2304 ] Series-A
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124, fien fert & semem ¢
(A) Yeiasdt 1

(B) by
(C) F4TEs &

(D) T #

125. SFRRIGIY AR R g ey
am ?
(A) 10 frma
(B) 9 fewat
(C) 8 frmt
(D) 7 feFeR

126, Fresfirfiaa & @ 0 T am w
g’r;riglﬁmmt?

(A) et wafead
(B) e vl
(C) e vaed!

124, Big bear ¢

e;a[ﬂpl‘-‘ of -

(A) Galaxy
.(5) Comet

© Constellations

(D) Star

125. When is ]nternational Human
Rights day celebrated?

(A) 10 December

(B) 9 December

(C) 8 December

(D) 7December

126, Onwhich of the following mountain

ranges is the doddabetta peal
situated?

(A) Nilgiri Hills

(B) Cardamom Hills

(C) Annaimalai Hills

(D) Nallamala Hills

(D) TewTmen vateat

[J-2304) Serles-A
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o, HifEaTEEd fore T %1 degeg 2
(A) sifemm
(B) afrerg
(C) ™
(D) &

(A) Prime Minister
(B) Parliament

(€) Supreme Court
(D) None of these

128. Where is the headquarter of the
Indian Army Training Command
located in India?

(A) Udhampur
(B) Shimla

(C) Kolkata
(D) Pune

129. Mohiniyattam is the folk dance of
which State?
(A) Odisha
(B) Tamil Nadu
(C) Gujarat
(D) Kerala

. 2304 ] Series-A [41)



130. wfEa oy
1 R¥ ey w3 Juced the objectiv,

130, Who intr@

fm ? .
resolution i1 the Constituen,

(A) =erwn mivh Acsembly?

(B) Tarex wet S (A) Mahatma Gandhi

(C) h.3m. smdream (8) Jawahar Lal Nehrt

(D) 2. THZ ErE (C) BR.Ambedkar

(D) Dr. anmd]‘ﬂ Prasad

131. 3t Wa ¥4 R w3 gy 4
(A) #nmvEs

131. In which of the following is the

ozone layer?
(B) W (A) Troposphere
(C) afgdoza \(B) Stratosphere
(D) HEATHUEH (C) Exosphere
(D) Ionosphere

132, 4. Taviet 1 '
HAE TS Q7 | 139 Which Instrument does Pandit Ra

(A) w7 Shankar play?
(B) faar (A) Sarod
(©) T (B) Sitar

. [C) Santoor
(D) ®wrt (D) Sarangi



/
it € lllt:;: J:‘:':::::I;q AL T
(M) :::m g wbv Wiy
{“_, frele foforam sefapy ¥y
o

fore wl) & Py LR ¥
o A

(A) Tawgen

(B)

(C) "

(D) a¥

e e werge A
. i
st &7

(A) WErT
(B) wrewerh
(©) ur
(D) it

Ft IO 3 @ 42
136. 7T

(A) m

(B) aftime

(C) ¥

(D) wrped

193, Whay 8 ViMaz

(A) l‘tﬂtl[;n I
()

(©)
() Voreigy

- |
“r hangy Money Ac Act
Porelg, Entity M'“'W::m Act
F"J'rl!ﬂ!,l"l Exchangy y Act
valuation Mone

k of
he ban

"M. Rome iy situated on 1

Which River 7

(A) Vistula
(B) Avon
©) Rhine
(D) Tiber

Bushman
tribe live 2
(A) Sahara
®) Kalahari
(©) Thar
(D) Gobi

Zealand?
136. Which s the Capital of New

(&) Auckland

(B Wellington

(©) Hamilso oy

(D) Christeh

[J-230418erice-A
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139, =R & T W1 Wwof w §
(A) ¥ faten

(B) ¥t 7
(C) Y UTEg
(D) 3w # | Fr§ el

140. W@ & wered A ® 508 qE
randte #9797
(A) wfied ghak. 93593
(B) wftzw 3.7, wfer
(C) wfes .4 v
(D) wftes Tor g

137, How is At prcﬁcnt the &dvﬁcnh

138, Where is the Central Leathe,
Research Institute in andinl

(A) Delhi

(B) Mumbal

(C) Chennai

(D) Kolkata

139, Who is currently the Chairmap o¢
Rajya Sabha?

(A) Om Birla

(B) Draupadi Murmu

(C) Jagdeep Dhankhar

(D) None of the above

140. Who became the 50th Chief Justic
of the Supreme Court of India?
(A) Justice D.Y.Chandrachud
(B) Justice U.U. Lalit
(€) Justice N.V. Raman

[J-2304] Series-A

(D) Justice Ranjan Gogoi
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I‘mgqf‘aﬂﬁznu Lack Cil'S)
(A) AT W HY
(B) Bk ol

(4

(A) =

144. 'm'ﬁmﬁﬁﬁmﬁqﬂmm
¥?
(A) f&=ik
(B) fawin
©) &
(D) ERE-wifa

141,
Whn has become Miss Universe
2012 7

{A] Harmagz Kaur Sandhu
(8) Divita Rai

(C} R’ Ennm-y Gabriel
(D) Andreina Martinez

142. Who won the Australian open 2023
men's singles title?

(A) Novak Djokovic

(B) Rafael Nadal

(€) Daniil Medvedev

(D) Victoria Azarenka

143. Grammy Awards is given in which
field?

(A) Acting

(B) Music

(C) Singing
(D) All of the above

144, 'Ujagjama' is the traditional folk
dance of which district?
(A) Kinnaur
(B) Sirmaur
(C) Kullu

J-2304] Series-A

(D) Lahaul-Spiti

[45]



145, ‘G 3w Bewn w7y 3o
(A) T% TerfRran
(B) W= ¥ex
(C) & 95+
(D) ©% 3@

146. femras w29 ¥ g N
7

(A) T ~ 1947

(B) S - 1947
(C) == - 1949
(D) Wl - 1948

147. femraa 28w # §- 29 1 =T vy
=g 1 feat wfaea 51 afewdt gam

&Y ST ?
(A) 30%
(B) 40%
(C) 50%

(D) wrg =&t

145. "What 15 lady of Keylong'?

(A) A Glacier
(B8) ACtyY
(C) ARoad
(D) A Lady

146. When did 'Suket satyagraha’
happen in Himachal Pradesh'?
(A) January - 1947
(B) June - 1947
(C) April - 1949
(DY February -1948

147-What percentage of subsidy will be
provided to eligible person on the
purchase of E-Taxi in Himachal

Pradesh?
(A) 30%
(B) 40%
(C) 50%

(D) None

[46] -



143,ﬂﬂ1ﬁﬁmﬂ'ﬂlﬁﬂ R R p—
g 91 ?
(A) 1877 8
(B) 1820%
(C) 1920%
(D) 350 H & 2 1

149.ﬂ;ﬁﬁmﬁth;mwﬁmﬁmﬂ
aﬂﬁa?‘?
(A) Tesz
(B) afeitals
(C) =iffEm
(D) wrreT

%7

(A) fawafee fig

(B) e sy

(C) w1 sAfrarsh
(D) 390 # ¢ =%

[J-2304]Series-A

150~H§fmqﬂﬁﬂﬁ?lmi:mﬁﬁm

149,

148, In whicp, year was the Victoria
Bridge of Mandi built?

(A) 1877

(B) 1820

() 1920

(D) None of the above

Vikas Thakur of Himachal Pradesh
is related to which sports?

(A) Cricket ,

(B) Volleyball

(C) Boxing .

(D) Weightlifting

150. At present, Wwho is the Bducatio)

Minister of Himachal Pradesh?
(A) Vikramaditya Singh

(BY RohitThakur .

(C) Mukesh Agnihotri

(D) None of the above

*dek ki
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